General Review: Chapter 6, 7 & 8					Name _______________________________
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ANSWERS
[image: Macintosh HD:Users:lisahoneyman:Desktop:Screen shot 2014-06-04 at 11.37.05 PM.png]1. (d)		6. (b)			11.  
2. (d)		7. (a)
3. (b)		8. (b)
4. (a)		9. (c)
5. (d)		10. (c)
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What is the perimeter of a regular decagon in which one side
has length %g‘.’

@) 10g ®) 5¢ @e @ 3¢
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What is the area of APOR at the right?
(@) 75 units?  (b) 135 units?
(¢) 85 units®  (d) 150 units?
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What is the area of parallelogram x___A

PARL at the right?
(a) 2lxunits®  (b) 21x units? . 4x

() 28x?units?  (d) 22x units®
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‘What is the perimeter of AABC A

(@ 161in.  (b) 25.74in. c

B~ 117in.
() 286in. (&) 48in.
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What is the height of the oblique cone at
the right?

(@) 15units  (b) 13.7 units

(@) 12units  (d) 9 units

@O
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Write an argument for this proof.

Given:  AD = CD; Conclusions Justifications
ZADB = ZCDB.

To prove: 4B = CB.
A

B D
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Condlusions
0.AD =D;
ZADB =
£CDB

1.8D=BD

2.4ABD=
4 cap

3.AB=TB

Justifications
Given

Reflexive
Property of
Congruence
SAS
Congruence
Theorem
CPCF
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Quadrilateral KITE at the right is K
a kite with ends K and T. If
mZEKT = 40, what is mZKTI?

(a) 100 (b) 80

(c) 140 (d) cannot be determined E
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ZYWXV, which is a true statement?
@ED=VX () AD=XZ
() LZC= /W (d) All of these statements are true.
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Quadrilateral RECT at the right R
is a rectangle. If m/ETC = 31,
what is mZTEC?

@ 31 ®) 59
() 69 (d) cannot be determined T
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Given the figure at the right as marked,
which congruence theorem justifies the
conclusion that AABC = AADC?

(a) SAS (b) ASA
[e) AA (@ HL
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In the figure at the right, it is given that
PS = PT. To prove APSR = APTQ by the
ASA Congruence Theorem, what additional
information is sufficient?

(@) £LP=2P
() PR=P0
© S0=TR

(d) ZPTQ = /PSR
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